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Q 1 TO 5 ( 1 SCORE EACH) 

1. ~ctb061136)0J~ Gal<;tj6mo Convex mirror 
2. db l~e.JOOJO§ arroOJal kwh 

3. <UTQ)OJ@Wmo Magnification 
4. Ln.JctbO(R)lctb rruotm@ Optical density 
5. lO0W 

Q 6 TO 10 (2 MARK EACH) 

6. A) Inductor, b) Inductors are used for reducing current in 
AC circuits without any loss of electrical energy. When 
resistors are used, electrical energy is wasted in the form 
of heat. 

6)6)0J8~<B®O@~o ffi~ 6)<;t1S06)@ n{))mf1 ffi)@c0)~3Jc0)~7~ 

c0)()(l)(J c0)J OWcOOJ ITT)@1 o1 ~ m!ruJcfuSOJ c0)(Rl ~o.J <B<IDOUJ1 cOOJ ITT)J. 

6)0mf1~0Jc0)(m ~ o.J<B<IDOUJ1cOOJ<BffiJOU?l, 6)6)018,.\,{<B®O@~o 

®Oo.J<IDID1o16)0 @lo.J<IDID1~ o.JO~Oc0)JITT)J 
7. N = (360/ 0 )- l =360/ 60-1 = 5 
8. a&d 

The 3 pin plug is specially designed to operate class III electrical 
appliances such as refrigerators, microwave ovens, and other 
metal body appliances. All of these appliances need to be 
earthed or grounded to eliminate the risk of electrocution caused 
by an electricity leakage passed to the metal body 3 n.flo3 <!dU1, 
Otn01~<BOQ0Jc0)U?l, 6)6)(2)(B(c0)0<BOJOJ 6300JffiJc0)U?l, 0CJ 6)0Q~ 
<B6l1J Orufl<IDJ~ OJi §Jo.J c0)(?)6Jl)6ffi3(Rl ®JS6ffi37 <ID ~OffiJ III 
~ eJ cfuts7 c06)~ ~o.J c0)(?)6Jl)6ffi3(m to.J OJ @<IDID7 <J:f)cOOJ ITT)@1 o1 
to.J<B@,:\c0)o @lo.Jc0)~<;tjm 6)~ewl§J~®06JlJ. 6)0Q~ 
<B6l1JOrufl<ID1<Be.Jc06') c0)SITT)J<Bo.J0c0)JITT) 6)6)018~@1 <B~O@aj 
0le.J0J6fls0c0)JITT) 6)6)0J8~®0ne.JO® CTUOW,:\® ~~O®OcOOOm! gQ'D 
~o.Jc0)(?)6Jl)6ffi36)~~ Oo 3 nJl ml ~ <t[)6)e.J OJ eJl <ID n{j)@m® n.Jlm! 
0J<B6llm t(J)'D6l15 am,6)~ab1 ~ @l01<IDJ00<ID7 6l1JmJJ1<J:f)cOOJITT)J . 
a-C , b - C 
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Q 11 TO 15 ( 3 MARK EACH) 

11.42 
b .. When a ray of light travels from one medium to another it 
bends from the normal and as the angle of incidence in one 
medium increases, the angle of refraction in the second medium 
also increases and at a certain angle, the angle of refraction 
becomes 90°, this angle of incidence is called critical angle (0c). 
to.Jc0)0(R) @~1 63CoJ f2lOW~f2lamYl1@ m1m'1 
f2l6)Q0CoJ f2l ow~ f2lamYl1 a:e.kOOJ 6)~@16TIDIDJ c0) ScOOJalffiJ OU?l 
cmoo.Jrumamnmo mscOOJc0)CIDJo cmoo.Jrumamnm alc0)06ml 90° rufltUfl 
®Q>c0)Ja:mJoU?l ®Q> ffi)f2lCIDamYlJ~ o.Jcmm a:c0)o6m7@m tc0)1§1c00am 
Qlc0)06ml n-O)m'1 of1~1c00JITT)J . 
c. figure C 
12. B to A 
b . Fleming's Right- hand rule 
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13. u= -8cm 
ho=6cm 
v= -16cm 
m= -(v/ u) = -(-8/ -16) =-2 

hi I ho = -(v/u) 
hi = -(v/ u) x ho 

= -2 x 6 = -12cm. 
14.a) Mutual induction 

b ) Vs=Ns 
Vp Np Vp = VsxNp 250 x 1500 = 50V 

c).Vpxlp=Vsxls 
Ip= Vs Is 

Vp 
P=VI 
I=P/V 
= 100/ 250=0.4A 

Ns 7500 

Ip= Vs Is 
Vp 

= 250 X 0.4 
50 

=2A 
15. a) Medium 1, If the angle of refraction decreases then the op tical density increases. 
<mc,o.J OJ@mTIDm (Bc0)06ml c0)JO<IDJ c0)(ID06)6Jl)ffi> 7 cml, Lo.J c0)0lfcfl c0) ffi)0(03CID OJ@illfl cOOJ ITT)J. 

b) Medium 1. 

Q 16 TO 20 ( 4 MARK EACH) 

16.Power station , Substation & Distribution. n.JOJ<3 ~~o91®, ffi)60J ~~o91® & fW7mJLS16Tllc:\lo91®. 
b ) Electricity loss in conductor due to the resistance of wire in the form of heat. .!1..l:::le.Jcfu 

cfum.flill\16)S ln.J@l ~<o8Wo cfu8<o6mo .!1..l 8e.Jcfu<IDID7m3 @8n.J<IDID7 ffi6)0 <oln.J<IDID7m3 @@OJGc:\6 @7 
m~o ffi)o@of1cOOJ rrDl 

c)The power loss can be managed by increasing the voltage and a lso decreasing the cu rrent. 
~OJ8l0~3~ OJ<3'2l.>7<;tjlcOOJrrD®7e.Jl6)SCIDJo c0:>omo cfuJO<IDcOOJrrD®l e.Jl@SCIDJo n.JOJ<3 m~o 
m7CIDLOID7c008® cfu~lCIDJO. 
17. 

Total Power of CFL = 5 x 20W = 1 00W, 
Total Power of Fan =4 x 60W =240W, 
Energy consumed by CFL = 100 x 4 

1000 
Energy consumed by Fan = 240 x 5 

1000 
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=1.2 u 
Total Energy= 0.4+1.2 =l 6 unit 

.la.A.. 
(!)Never use a damaged extension cord 
2)Before changing a lightbulb, switch off the power . 
(3)wear rubber footwear or insulated glove while operating electrical device 

b. 
( !)Raise the temperature of the body by massaging 
(2)Give Artificial Respiration 
(3)Start first aid 

( 1) ~cfuS8<ID ofildb~®n91® ~cfu80(UJ 63<o1cOOeJJO ~o.J~(ID8U)1c00CoJ® 
2)6)6)e.JQ 611J(060J (2)8<;nrrncm7m 0JffiJ, o.JOJ@ 638n0 6).QJ(B)Jcfu. 
(3)~e.JctbLS1cOOm3 ~o.Jcfu<o@no Lo.JOJalamn1<;t[)cOOJ~ffiJ8<.0 06T]al o.J8GCocM1cfu~~8 
~®OUJ~e.JQ(UJ <JJ'D~OU8 W<o1cOOJcfu 

b. 
CI) 0rru8~ @.QJCWJ6)cfu8(IB uocoicoamn7m@o ®8o.Jm7e.i ~<IDal®IDJcfu 

(2) dbJL®1 0 UOJOUffio ffiCTmcfuJcfu 
(3) Lo.J l.00 UOJLUOln91 ®Q>Coo@1cOOJcfu. 

19.Wall - irregular reflection 
Mirror - Regular reflection 

b) Objects near the wa lls are visible due to reflection of light from wa ll 

c)Light are reflected in different directions so they cannot form an image. 
@1mrm1 - o..flffi)<ol@ lo.J@lo.J@mo 
8@<;:tj6ffio- ldb0 lo.J®lo.J@mo 
b) @1®ID1<ID1©3 mlCTDJ~ lo.Jdb8UO®ID1m6)0 loJ®lnOe.Jmo db8<o6ffio @1®ID1dblmc00 
ffi)0io.J0J~ OJ~c06)(0 8 J UOJ,086ffi. 
c)lo.JdbOUOo OJJ,CIDJ,~ G1UOdb~1©3 lo.J®l n0e.f1c06)JCTDJ, ®o@lmoam ®oOJ<IDcOO 63<oJ 
loJ@16llflo6llJo <oloJ6)<;:tjSJ®ID8ffi db~1<ID1~. 

20. a)60° 
b)Snell's Law 
c) sin(i)/sin(r) 
d)The refractive index of any medium with respect to another medium which is not 
vacuum is called relative refractive index. 
d)UcllffiJ,CID ®o~O®ID 63<oJ 08WJ,0®ID1m6)0 ®ooJOJ@®IDffi8ffh6)®ID 06)Q8<oJ 
08WJ,0®ID1m6)0 ®ooJOJ@®IDffiffh0JJ08<ID1 CIDO<o®0J,6)<;:tjSJ®IDJCTD®86ffi 
®Q)CZoJ dh91ldb ®oo.J OJ@®IDffiOffho. 
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